g

ERk T ><H

BN BRHE R R

0

AR ROERETR

FERERATE BTN &ESy SEHERT:2012/01/01~2012/03/31
FmH% EHEMARL FEAEEL

2EIRT 3 1.74%
=L HIRT 3 1.74%
R PR IRT T 3 1.74%
LRGSR T 3 1.74%
alLEH T 5 2.91%
Bt R S AR T 4 2.33%
{EIE(RE) R T 26 15.12%
BT E SR T 7 4.07%
EE (B8 EEIRT 6 3.49%
2R T 5 2.91%
Bl R T 7 4.07%
R B IR T 6 3.49%
TCRPEHEIRAT 5 2.91%
K S IR T 5 2.91%
FILIPGHERT 3 1.74%
R EFEIRT 3 1.74%
BT EIE R R T 20 11.63%
KRR T 14 8.14%
H B BPE e S ek T 9 5.23%
R (EEC R RS T 18 10.47%
PR IR T 4 2.33%
HAthgRAT 13 7.56%
HoAth A H]

HEEt 172 100%

5

LEMEER=[ Ry £ AE R TS FR T30 100%
2 FISRIT HHERRAFA L 3 4 A THEEE - #ebl T BN E] ) 23R


javascript:__doPostBack('SGrid','Sort$Col1')
javascript:__doPostBack('SGrid','Sort$Col2')
javascript:__doPostBack('SGrid','Sort$Col3')

